Kuta Software - Infinite Algebra 2 Name

Translating Graphs of Trig Functions Date Period

Using degrees, find the amplitude and period of each function. Then graph.

1) y=sin(6—-135) 2) y=cos (6 -30)
A
O] O]
J I
4 4
3] 3
T T
9 180 270 360 450 540 90° 180 270 360 450 540
=1 =1
=3 =3
—4 =4
=J =J
=0 =0
A
3) y=—2+tan @ 4) y=1+sin 6

A A

O] Y

I I

4 4

3 3|

T 1

6 120 180° | 240° | 300 360° 90° 180 270 360 450 540

=1 =1
=J =J
= =
=J =J
=0 =0

4

1 6) y=2+4cos (6 +90
5) y=2+5csc(9—135) )y cos )

A
0
‘ J
O]
A
J
3
4 Y
3
R 1
1 D 9 180° | 270 360° | 450 5400’
=t
9 180° | 270° | 360° | 450° | 540 =
=1
N =3
—4
=3
=J
—4
=0}
-5 \
=0
\




7) y=1+cot (26 —90)
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8) y=1+sec(g—135)

Using radians, find the amplitude and period of each function. Then graph.

1 T
9 =—sin|30+—|+1
)y 5 ( 4)

=

5
11) y = 4cos (20—%)—2

A

tal
=
(%)

IRl

A
O]
J
4
3
1
180° | 360° | 540° | 720° | 900° |1080°
=1
=3
4l
=5
—0]
A
60 5n
10) y=3sec|— ——|—-2
2 6
A
O]
J
4
3]
1
T 2m 3m 4 S 6m
=t
=3
—4
=J
=0
1 St
12) y=—tan 260 - —|+1
2 3
A
O]
J
4
3
1
k3 T r
—1 3
=3
4]
=5




Kuta Software - Infinite Algebra 2 Name

Translating Graphs of Trig Functions Date Period

Using degrees, find the amplitude and period of each function. Then graph.

1) y=sin(6—-135) 2) y=cos (6 -30)
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5) y= 2+Ecsc (6 —135)

Amplitude: 4
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7) y=1+-cot (26 -90) 8)y=1+sec(£—135)
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Using radians, find the amplitude and period of each function. Then graph.
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